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16. It was a great day. The teacher gave me ................... .
a. many good advice b. a lot of good advice
c. many good advices d. lots good advice
17. How.......cc........ to make sandwiches for 100 people?
a. many loaves of bread we need b. much bread do we need
c. many loaf of bread do we need d. much do we need bread
18. There .......cccu....... in the room to read. Let’s switch................... on.

a. are not enough lights / some lights
b. is not enough light / some lights

c. are not enough lights / light

d. is not enough light / light

19. The new education system allows more direct ..............between teachers and parents.

a. communication b. protection C. experience d. difference
20. Our teacher said that after the class, he would stay for a/an................ hour and answer our
questions.

a. countable b. probable c. additional d. different
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